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MC setting

. HiFSNS=-a— MU/ Ric#¥(by BE S A)ZJTIC. events/
7modules/T0"°POTHHIADMETE Z AL /o,

. all horn current = OkA, jnubeamQO9c

e 467 x 104 numu events + 1.29 x 104 numubar events
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nActPIn

active plane cut

active plane %1 (w/0 horn)

—>
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nActPIn
nocut active plane > 1 | active plane > 2
All 121000 94689(78%) 76496
CC 88770 81557 68654
NC 32230 13132 7842
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Interaction mode &

nActPIn {intmode<30&&intmode>-30}
Entries 88770 TB 1
14000F S 09
ook T CC all S 0.8F CC+NC(numu+numbar)& DLt
: QE 2 0.7
- =
10000t iz & s
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. 03 I e
4000 | i ]
: 0.2 —
2000 0.1E
0 05_ ' e T B
0 2 4 6 10 12 0 6 8 10 12
nActPln nActPln
nocut active plane > 1 active plane > 2
CC (numu 88770 81557 68654
+humubar)
QE 25326 22319 18129
17 27489 24331 20306
DIS 33685 32710 28382
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Interaction mode &

12000 3 &
S 09F
10000 NC all 2 08F CC+NC(numu+numbar) &ML
QE S 0.7F
17 2 0.6F
0.5F
0.4F
0.3F
0.2F
L 0.1F
0 P T e T I
0 2 4 6 S 10 12 0 2 4 6 S 10 12
nActPIn nActPln
nocut active plane > 1 active plane > 2
NC (numu 32230 26264 15684
+numubar)
Elastic 9923 716 174
1 11221 3566 1531
DIS 10253 8236 5826
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Neutrino Energy 970
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Enu [GeV] Enu [GeV]
nocut active plane > 1 | active plane > 2
Total 121000 94689 (78%) 76496
Enu < 3 GeV 55249 36977(67%) 27431 (50%)
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Neutrino E 921 (low Energy)
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horizontal module

14000 3 I
: S 0.9F
12000 E :
: Ef 0°85_| — .
IOOOO_— > ——— % 3(75_
8000F [~ — I § -
'_/ \\\ Z 055_
0000E_1 " =< 2 o4b
- \\ & :
4000~ = 0.3F
2000 ~ 020
I 0.1F
, O 1 2 3 4 5 6 7
Horizontal module # Horizontal module #
nocut active plane > 1 | active plane > 2
Constant 9861+58 776152 6326147
Mean 3.68+0.03 3.68+0.03 3.69+0.04
Slgma 3.80+0.07 3.72+0.07 3.61x0.07
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vertical module
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Vertical module # Vertical module #
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vertical

Ratio to Flux

nocut active plane > 1 | active plane > 2

Constant 9413+57 7409151 600746

Mean 10.2+0.05 10.2+0.1 10.1+£0.06

Slgma 4.80+£0.13 4.61£0.14 4.52+0.14
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Mean energy deposite

mean cut 16000
0000-'——>E 14000 mearl cut
3 12000f-:
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5000 mEact 1
NPT
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00 20 40 60 S0 100120140 160180200220 Viean eV
Mean [MeV]

. horizontal & vertical modules

. Mean energy deposite (mEact [MeV]) > 8.5 p.e. x (p.e. to
energy[MeV] const) — "mean cut’

. p.e.to energy const = 2MeV / 1bp.e. (from cosmic test)
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Mean Edep 77

15p.e. MIP(2MeV)

Threshol 0 g5 05 105 15 17

d [p.e.]

Threshol\ 4 |4.1333333|1.2666667| 1.4 2 |2.2666667
d [MeV]

#of 1 121000 | 105201 | 105139 | 105058 | 98605 | 91130
entry

Efficienc | 460 86.9 86.9 86.8 81.5 75.3

y (%)
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interaction mode (CC)
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interaction mode (CC)
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INteraction

mode (CC)

nocut Mean > 8.5 Mean > 15
CC all 88770 86118 79980
QE 25326 24351 20865
1@ 27489 26014 23715
DIS 33685 33494 33167
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interaction mode NC

Eact {(intmode>30llintmode<-30)} Ertios 3223 mEact {(intmode>30llintmode<-30)} Entries 3223
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interaction mode NC

Entries 9923

10 0.45

10°

0: } A w*ww*

Lo
2 4 6 8 10 12 14 16 18 20 0 2 4 6 8 10 12 1‘1‘“16[1{‘;@0
Mean [MeV] can [vieV]

10

CCEIFELV, 2MeVHE T/

Tuesday, January 5,2010

16



INteraction

mode %

nocut Mean Edep>1 Mean Edep>1.13
NC all 32300 19083 18625
Elastic 9923 2556 2438
1 11221 6181 5966
DIS 10253 9564 9451
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Mean > 8.5 p.e. No cut Mean > 8.5 p.e.
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Ratio to nocut Flux

0.6

Tuesday, January 5,2010

18
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2000 % 0.6F
: 0.55F
WEEE N P FE TS P . P NPT P P P P P P
o T2 I Ty s e 0 1T 23 s e
Horizontal module # horizontal module #
nocut Mean > 8.5 p.e. | Mean > 15 p.e.
Mean 3.68+0.03 3.69+0.03 3.68+0.03

Slgma 3.80+0.07 3.76x0.07 3.75+0.07
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2000F 0.6
i 0.55
G890 12 13 14 0.5 8" 1011 12 13 14
Vertical module # vertical module #
nocut Mean > 8.5 p.e. | Mean > 15 p.e.
Mean 10.2+0.05 10.2+0.05 10.2+0.05

Slgma 4.79+0.13 4.70+0.14 4.68+0.14
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Horn7g U Efficiency & & &

sz =+N
All Efficiency
no cut 121000+348
active plane > 1 94689+308 78.3£0.3%
Mean p.e. > 8.5 p.e. 105201+324 86.9+£0.4%
upstream veto 114141x+338 94.3+0.3%
All cut 88622+298 73.2+0.2%

14module(Fe 7.1 Tton/modulex14) TEAF NS Za— MY / RIGEICHERENERZ MT T

0.900+0.02 events/14modules/1014POT
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MC setting 1stik—> D &

e EDHZT 1 ONeut7 7LD DHRET=3 x 10° events (in 11m x
1 Im target)

« 1st horn current = 320kA, 2nd,3rd horn current = 320kA,
. JnubeamO9c
. 26045 numu events / horizontal modules

« 26308 numu events / vertical modules
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st Horn M A& Efficiency £ & &

= =+N
All Efficiency
no cut 52353+229
active plane > 1 38582+196 73.7£0.5%
Mean p.e. > 8.5 p.e. 44715+211 85.4+0.5%
upstream veto 496841223 94.91+0.6%
All cut 36348+191 69.4+0.5%
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